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Group-A

Answer any five of the following questions : 2×5=10

1. Give an example of non-truth functional statement.

2. Determine the validity of the following using truth table :

. / ~ ~p q q p 

3. Prove the invalidity of the following :

 
 
~ .

~ .~ /

E F

E F G

4. What is singular proposition? Give example.
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Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.
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5. Distinguish between a statement and a statement form.

6. Use truth table to characterise the following statement form as tautology, self contradictory
or contingent :

 .p p p  

7. Express the following with dagger functions :

 ~ ~ p q r   

8. Express the following with stroke functions :

 ~ ~ . .p q r  

Group-B

Answer any four of the following questions : 5×4=20

9. Prove the invalidity of the following :

(a)    
     

.

. /

x Mx Nx

x Mx Ox x Ox Nx



  

(b) F  R

    P  R / ... F  P

10. If A, B true and X, Y false then what are the truth values of the following statements:

(a) ~ B   X

(b) (A   X) . (Y   B)

11. What is material implication?

12. What is truth function compound statement? Give an example.

13. Test the validity of the following argument using the method of resolution :

p q / ... p  (q   r)

14. State the rule of Existential Generalisation with suitable example.
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Group-C

Answer any three of the following questions : 10×3=30

15. Translate the following using quantifiers, individuals, variables etc. : 2×5

(a) Oranges are sweet if they are ripe.

(b) This flower is red.

(c) There are man eater.

(d) Nothing is both safe and exciting.

(e) No car is safe unless it has good break.

16. Construct formal proof of validity (any two) : 5×2

(a) Gold is valuable. Rings are ornaments. So gold rings are valuable ornaments.

(b) Hume was sceptic but Lock was not. Therefore everyone is either sceptic or not
sceptic.

(c)   .x BX DX

    (X) (DX CX) / ...  x  (CX . BX)

(d) Z A

    ZVA / ... A

17. Define with the help of truth table different types of truth functional compound statement.
10

18. Explain paradoxes of material implication. How these can be resolved, explain. 5+5

19. (a) Use truth table to characterise the following as tautology, self contradictory or
contingent: 5+5

(1)    ~ . ~p q p q 

(2) p p

(b) Determine the validity of the following using truth table :

 A   C

 C D / ... A D
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× =

. / ~ ~p q q p 

 
 
~ .

~ .~ /

E F

E F G

 .p p p  

(dagger functions)

 ~ ~ p q r   

(stroke functions)

 ~ ~ . .p q r  

× =

  
     

.

. /

x Mx Nx

x Mx Ox x Ox Nx



  
P.T.O.
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F  R

    P  R / ... F  P

A, B X, Y

~ B   X

(A   X) . (Y   B)

(material implication)

(method of resolution)

p q / ... p  (q   r)

E. G (Existential Generalisation)

× =

×

×

  .x BX DX

    (X) (DX CX) / ...   x (CX . BX)
P.T.O.
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Z A

    ZVA / ... A

+

   ~ . ~p q p q 

p p

 A   C

 C D / ... A D

—————
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